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2. This paper consists of sixty (60) multiple-choice type of f TE (50) R T I A B | IHEER R
questions, out of which the candidate would be required to = 9 A W T I 3 W IHEER §W &F T v
answer any fifty (50) questions. In the event of the candidate T S H G B ST
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3. At the commencement of examination, the question booklet Siter & foIq o ST, et S et e Al ¢
will be given to you. In the first 5 minutes, you are requested 1) W%?W @BFFFB{ % T 3Tk FHeR UST WX A HETST
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(1) Tohave access to the Question Booklet, tear off the paper ‘IF{HET HR T H |

seal on the edge of this cover page. Do not accept a booklet (ii) asaTTz‘ﬂTEﬁ 37‘ TUTATA
without sticker-seal and do not accept an open booklet. B TEAT Bl B WE ‘&a}; T '%' \ a:rm{u?
(i) Tally the number of pages and number of questions in ﬁqaﬁwmmgﬁmm an AT HEiRTe
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page. Faulty booklets due to pages/questions missing HE qAT IH! THT I TR IS WA W TEN W
or duplicate or not in serial order or any other WW A & | TEF faw Ut ute fame f
discrepancy should be got replaced immediately by a AR | SHF AT T A ST AT mm@mﬁ
correct booklet from the invigilator within the period aﬁtq AT AR T AT S |
of 5 minutes. Afterwards, neither the Question Booklet (iii) =@ S G e v W s aﬁl—g OMR T9F W 3ifHa
will be replaced nor any extra time will be given. ¥ OMR TI% & W T 3 - w
(iii) After this verification is over, the Test Booklet Code st S |
1s\lllould be entered in the OMR Sh_eet and the OMR Sheet 4. TSI U % T WR W faeT (A), (B), (C) T (D) &
umber should be entered on this Test Booklet. ¥ | e e I S I F U7 § T e BT

4. Eachitem has four alternative responses marked (A), (B), (C) ?IFT & 9 e T
and (D). You have to darken the circle as indicated below on . . ®
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Example : (&) ® O 5. WA SUE vsrn%f%ﬂrqm‘} OMR U= & 1 36 790
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Sheet given inside this Booklet, which is common for T T o WF W 39T A €, A STH
Paper I and Paper II. If you mark at any place other than in e el &N |
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7. Rough Work is to be done in the end of this booklet. 8. AR T OMR T% W T I & 3fefren 7O M, el

8. If you write your Name, Roll Number, Phone Number or put T, HF TR A7 s O UGy foed e el wew
any mark on any part of the OMR Sheet, except for the space Teh, ekl A © ST 319G T T UG L &, °qT Hig
allotted for the relevant entries, which may disclose your 3T 3T AT A T G €, A e % 1%,1& T
identity, or use abusive language or employ any other unfair oifd 5 ST 9 © |
means, you will render yourself liable to disqualification. 9.  3US U 9uTd @ U Wgﬁ‘aﬂq T§ OMR T& W%

9. You have to return the test question booklet and OMR Original FeTh TeIT i AT 3Tavg® ¢ S gdel 9o % iy
Sheet to the invigilators at the end of the examination 3T YT 91T U Yo O 96T 7 ool ST | gl oY
compulsorily and must not carry it with you outside the TR AT 9 OMR U9 & gq:ﬁﬁaz Ul 3O | o ST
Examination Hall. You are however, allowed to carry duplicate Fd & |
copy of OMR Sheet on conclusion of examination. 10. hael Hiel/aTer dTel @SS U T &1 SEAHTA BY |
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Paper - 1
PrE e |
Note : e This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.
¢ (Candidate is expected to answer any Fifty (50) questions.
In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will

be evaluated.

AE: o U YT H WIS (60) Tgiahedd U9 € | Ui U¥ & &f (2) 3H E |
o gl T T A T (50) U F WA E |
o IS TET (50) T 31T UeAT o ISR T @ U2 u= (50) U & S S |

1. Video-Conferencing can be classified as
one of the following types of
communication :

(A) Visual one way
(B) Audio-Visual one way
(C) Audio-Visual two way
(D) Visual two way

2. MC National University of Journalism
and Communication is located at
(A) Lucknow (B) Bhopal
(C) Chennai (D) Mumbai

3. Al India Radio (A.LR.) for
broadcasting was named in the year
(A) 1926 (B) 1936
(C) 1946 (D) 1956
4. In India for broadcasting TV
programmes which system is followed ?
(A) NTCS (B) PAL
(C) NTSE (D) SECAM
S. The term ‘DAVP’ stands for
(A) Directorate of Advertising &
Vocal Publicity
(B) Division of
Publicity
(C) Department of  Audio-Visual
Publicity
(D) Directorate of Advertising &
Visual Publicity

6. The term “TRP” is associated with TV
shows stands for
(A) Total Rating Points
(B) Time Rating Points
(C) Thematic Rating Points
(D) Television Rating Points

Audio-Visual

7. Which is the number that comes next in
the following sequence ?
2, 6, 12, 20, 30, 42, 56,

(A) 60 (B) 64
© 72 (D) 70
W-00

1. =ifear =T & 9 TR & §9R °
TR T ST el €
(A) T TH ATH
(B) T¥I-9T U ATH
(C) TI-H I AH

(D) T¥I T WH
2. THEL U@ NG T §ER
forgaformmers el o e & 2
(A) &S (B) ot
(C) == (D) T=E
3. 3THeEmn fHe av § yErRer & A fear
T 9
(A) 1926 (B) 1936
(C) 1946 (D) 1956
4., YRA § oAfas HEHHT & TR0 & fow
T8 g ld i 3191 ST § 2
(A) NTCS (B) PAL
(C) NTSE (D) SECAM

5. SUAd WU ET§

(A) SRR AT TSaiEH Te dihel
e T2t

(B) TedisH 3w sfifeat-fosgsme
TeATTAT

(C) feurdw= 3iw JHifear-fasgster
oA T2t

(D) TEHRRE 3% TSN Ug
fosgatet ueetitaet

6. ‘TRP’ U5 S el oS § qa&red e,

3IGH A T

(A) et e uidem
(B) 2rEm e uigeq
(C) fmfees e uidew
(D) eiferst ¥ digew

7. 9 S@eT H S G G AW A 2

2,6, 12, 20, 30, 42, 56,
(A) 60 (B) o4
<o 72 (D) 70

P.T.O.
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8.

10.

11.

12.

Find the next letter for the series

Given that in a code language, ‘645’
means ‘day is warm’; ‘42’ means
‘warm spring’ and ‘634’ means ‘spring
is sunny’; which digit represents
‘sunny’ ?
(A) 3

©) 4

B) 2
D) 5

The basis of the following classification
is:

‘first President of India’ ‘author of
Godan’ ‘books in my library’, ‘blue
things’ and ‘students who work hard’
(A) Common names

(B) Proper names

(C) Descriptive phrases

(D) Indefinite description

In the expression ‘Nothing is larger than
itself’ the relation ‘is larger than’ is

(A) antisymmetric

(B) asymmetrical

(C) intransitive

(D) irreflexive

Assertion (A) : There are more laws on
the books today than ever before,
and more crimes being committed
than ever before.

Reason (R) : Because to reduce
crime we must eliminate the laws.

Choose the correct answer from below :

(A) (A) is true, (R) is doubtful and (R)
is not the correct explanation of
(A).

(B) (A) is false, (R) is true and (R) is
the correct explanation of (A).

(C©) (A) is doubtful, (R) is doubtful
and (R) 1is not the correct
explanation of (A).

(D) (A) is doubtful, (R) is true and (R)
is not the correct explanation of
(A).

W-00
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YVSP ........ S & [T 3TTeT 3R
FE?
(A) N
<€ O

B) M
(D) L

FH O H I UST ¢ B, ‘6457 w1 T ®
TH T . 42w I & TR aE
3T 634 &1 37 & ‘T guuar & |
frefefaa o @ #9 @ i quEEr wi
TR I € 2

(A) 3 B) 2
< 4 D) 5
T7=T SITeRT0T T STHR T

‘TRA & UIH TRAM, MEE % i@,
“Feremelt ST SHEl-Hed A & |

(A) TEEWRT A

(B) SATHaTa® A1

(C) dUTHTcHS HRTeT a1

(D) AffvEa av=

‘Hig AT MO & TS T e’ — W
aTfiyeafad o <310 W IEl & T8 ey €
(A) afa foed

(B) 3T

(C) 3HIH

(D) AfsTaTa®

HAT (A) : T H oA H STTHA I
FIA Rl | st FEA
3R Teet H qO H HE STHw
I B T |

HROT(R) : Fi(h, TRY HH FA & o0
T BT ! FHE HEAT BT |

fr=fefad & 9 @&t 3w g

(A) (A) T &, (R) T[T & 3T (R),
(A) T HE! AT TET ¥ |

(B) (A) 3ITH &, (R) T & 3 (R), (A)
H T AT |

(C) (A) YT &, (R) IhROg & 3R
(R), (A) Tl & =T T € |

(D) (A) TR &, (R) ¥ & 3 (R),
(A) T HE! AT TET ¥ |




13. If the proposition “All men are not
mortal” is true then which of the
following inferences is correct ? Choose
from the code given below :

1. “All men are mortal” is true.

2. “Some men are mortal” is false.
3. “No men are mortal” is doubtful.
4. “All men are mortal” is false.
Code :

(A) 1,2and3 (B) 2,3and4
(C) 1,3and4 (D) 1land3

14. Determine the nature of the following
definition :
“Abortion” means the  ruthless
murdering of innocent beings.
(A) Lexical (B) Persuasive
(C) Stipulative (D) Theoretical

15. Which one of the following is not an
argument ?

(A) Devadutt does not eat in the day
so he must be eating at night.

(B) If Devadutt is growing fat and if
he does not eat during the day, he
will be eating at night.

(C) Devadutt eats in the night so he
does not eat during the day.

(D) Since Devadutt does not eat in the
day, he must be eating in the
night.

16. Venn diagram is a kind of diagram to

(A) represent and assess the validity
of elementary inferences of
syllogistic form.

(B) represent but not assess the
validity of elementary inferences
of syllogistic form.

(C) represent and assess the truth of
elementary inferences of
syllogistic form.

(D) assess but not represent the truth
of elementary inferences of
syllogistic form.

W-00

13. If wo @l & AwEd &0 99 ¢, o
frefefed sFaml § 9§ S a1 A T&
£ 2 Fafeafad ws § T 997 =L
| G AT AREdE P TEEIE |
2. ‘P T ARET § | FE AT § |
3.?’5‘31@?&1616%?%’%31&3@3

|
4. G S AREd € 1 T8 T € |
HS
(A) 1,233 (B) 2,334
(C) 1,334 (D) 133

14. Ffefaa afearer ot wehfa fHeiia it

& |
(A) USESHr (B) foweracaes
(C) W= (D) dgifas

15. Frefeiaa g & 9 S @ gl 7@ & 2
(A) ZoEw fo o dism =@ wan g, 6
o3 a8 T | 9IS AT ¢ |
(B) 3 <oe HiEl Bl &, AN IC a8
o7 W 9o TE a1 €, 98 Ta °
O AT |

(C) Tasw Td B WIS T §, SHAT o8
T d O T e |

(D) i Io=a fo7 § oo @ e €
TE A | WIS HIAT BN |

16. 37 SEUM TH TR 1 SEUH &, S
(A) TaE-TERy g R &
it e o B ot )
At SR geaieh ST |
(B) ! 3MHR & Wrifeh SFAEMT i
JUAT BT UAHS BT, T
e el T |
(C) =gent 3R & Wi SFEMT o
T H UfaHe SR godish

AT |

(D) =TI SMHR & WAfH A
IAT H HodihT  HwAL, T
ST Fel T |
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17.

18.

19.

20.

21.

Reasoning by analogy leads to
(A) certainty

(B) definite conclusion

(C) predictive conjecture
(D) surety

Which of the following statements are
false ? Choose from the code given
below :

1. Inductive arguments always
proceed from the particular to the
general.

2. A cogent argument must be
inductively strong.

3. A valid argument may have a
false premise and a false
conclusion.

4.  An argument may legitimately be
spoken of as ‘true’ or ‘false’.

Code :

(A) 2,3and4 (B)

(C) 2and4 (D)

1and 3
1 and 2

Six persons A, B, C, D, E and F are
standing in a circle. B is between F and
C, A is between E and D, F is to the left
of D. Who is between A and F ?

(A) B B) C

© D D) E

The price of petrol increases by 25%. By
what percentage must a customer reduce
the consumption so that the earlier bill
on the petrol does not alter ?

(A) 20% B) 25%

(C) 30% (D) 33.33%

If Ram knows that y is an integer

greater than 2 and less than 7 and Hari

knows that y is an integer greater than 5

and less than 10, then they may

correctly conclude that

(A) y can be exactly determined

(B) y may be either of two values

(C) y may be any of three values

(D) there is no value of y satisfying
these conditions

W-00
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A ¥ T A °
(A) TAfeadar ura g € 1
(B) g frehy feherar € |

(C) HiT=rgere SFHM o 9o € |
(D) frae=

fr=fefad weori 5 9 B9 9 FUF I8

g0 fefafad e d a4 -

1. SMTHATHS Jrrrat dea oy 9 |
T 3 A E |

2. I JfRT STHATH gt & Tfad entl |
3.99 I H Ted qaEEd 3R e
frespd &t W € |

4. JoRT 1 I T F [ AT ToAD Fe
Thd € |

E .

(A) 2,334 (B) 13WR3

(C) 234 (D) 132

T AT A, B, C, D, E X F T g ¥
e T IFARCHATBE, EARD &
TITAEMEDFACE |AMNFF
T BHTE?
(A) B
© D

Ui I BT T 25% Iy B € | TR
H AT ITAT [RY Ufqwd H HH AT
1feT F foh U2ier 1 Tt foet gt 7@ 2
(A) 20% (B) 25%

(C) 30% (D) 33.33%

B) C
D) E

IR TN e fFy 2 A 21 3T 7 ¥ A
Ul € 3R &R ST € T y 5 | g1 3R
10 ¥ 7 qUTieh &, af T o Sreh-2ie Fhd
W UET W § o

(A) %aﬁaﬁaﬁ-aﬁwﬁa‘rﬁﬁ%mmw

|

(B) y & Ul H A UHE HHATE |

(C) ydH gedi & | U & Thar ¢ |

(D) 'y T IS 7o T ¢ WA W B
I HY |



22. Four pipes can fill a reservoir in 15, 20,

30 and 60 hours respectively. The first
one was opened at 6 AM, second at 7
AM, third at 8 AM and the fourth at 9
AM. When will the reservoir be filled ?
(A) 11 AM (B) 12 Noon
© 1PM (D) 1:30 PM

The total electricity generation in a
country is 97 GW. The contribution of
various energy sources is indicated in
percentage terms in the Pie Chart given

below ;
Nuclear power
} Wind & Solar energy
Fossil
fuels

23.

24.

23.

24.

Hydro power

What is the contribution of wind and
solar power in absolute terms in the
electricity generation ?

(A) 6. 79GW (B) 194GW

©) 9.7GW (D) 29.1GW

What is the contribution of renewable
energy sources in absolute terms in the
electricity generation ?

(A) 291GW  (B) 26.19GW
(C) 679GW (D) 97GW
For Blind Students Only

(Questions 23 — 24)

In a normally distributed data set, what
percentage of data points lie between
mean + 2 * standard deviation ?
(A) ~95% B) ~68%
©) ~50% D) ~37%

10 is the mean of a set of 7 observations
and 5 is the mean of a set of 3

observations. The mean of the
combined set is given by
(A) 75 (B) 8.5
© 10 (D) 15
W-00
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T U W FHd & | Tl B 6 AM W
Qe 7, 38 & 7 AM W, T Hl 8
AM 31X = & 9 AM W @iell T | $8
e T 2

(A) 11 AM
©) 1PM

(B) 12 Noon (3T@e)
(D) 1.30 PM

T 9 H FoA foga @R 97 GW & |
faf= ST @Al &1 e uiaea 9 °

QlEIRRIIES]
aﬂ@lﬁrwﬁ

SIERYICS]

Torle Scare | a1g e Wi Wt 1 A
GHTead T T =T E 2

(A) 679GW (B) 194GW

© 97GW (D) 29.1GW

fogE Scae H FEeRviE S Aidr @6
e giHfved 0 & FE o

(A) 29.1GW  (B) 26.19 GW
(C) 67.9GW (D) 97GW

Hact g B & ford
(W9 23 — 24)

= w9 § fodiia o wq=aa |, Arer
+ 2 * AFE g9 & o 3l [agel
i T T Tt & 2

(A) ~95% (B)
©) ~50% (D)

~ 68%
~37%

7 U0 % GHeId & @A 10 ¥ A 3
U0 % WIS H W 5 & | GIH

T A &
A) 75 (B) 85
<© 10 (D) 15

P.T.O.



25.

26.

27.

28.

29.

TCP/IP is necessary if one is to connect
to the

(A) Phone lines
(B) LAN

(C) Internet
(D) a Server

Each character on the keyboard of
computer has an ASCII value which
stands for

(A) American Stock Code for
Information Interchange

(B) American Standard Code for
Information Interchange

(C) African Standard Code for
Information Interchange

(D) Adaptable Standard Code for
Information Change

Which of the following is not a
programming language ?

(A) Pascal

(B) Microsoft Office

(C) Java

(D) C++

Minimum number of bits required to
store any 3 digit decimal number is
equal to

(A) 3
B) 5
© 8
(D) 10

Internet explorer is a type of
(A) Operating System

(B) Compiler

(C) Browser

(D) IP address

W-00

25.

26.

27.

28.

29.

TCP/IP 2939 & 4§ Ush i FAferad

(A) T WA
(B) LAN
(C) T
(D) W

FJ FH B W UAH HF B

ASCII Hea/a gl & foraen 372 g &

(A) FEREHT Wh HE B THYIE
T

(B) M Wres ®ig ®R THYIH
EEEE|

(C) 3ThIHT Wres Hg HR THUIE
T

(D) USHEA WTE HS BT THYIA
T

frfefaa & 9«0 @ Wl s 7@
€7

(A) TEEHA

(B) TIEHIET 3y

(C) STen

(D) C++

HE 3 Ah WHAS G H GUE (RN
FH % o foed (5d%) A SE
o SRR & 2

A) 3

B) 5

€ 8

(D) 10

I AT [T THT H1 T 2
(A) VT TSI

(B) FEe

(C) dI3siY

(D) IP T (T3H)
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30.

31.

32.

33.

34.

POP3 and IMAP are e-mail accounts in
which

(A) One automatically gets one’s mail
everyday

(B) One has to be connected to the
server to read or write one’s mail

(C) One only has to be connected to
the server to send and receive
email

(D) One does not need any telephone
lines

Irritation in eyes is caused by the
pollutant

(A) Sulphur di-oxide
(B) Ozone

(C) PAN

(D) Nitrous oxide

Which is the
chlorofluorocarbons ?

source of

(A) Thermal power plants

(B) Automobiles

(C) Refrigeration and Airconditioning
(D) Fertilizers

Which of the following is not a
renewable natural resource ?

(A) Cleanair (B) Fertile soil
(C) Fresh water (D) Salt

Which of the following parameters is
not used as a pollution indicator in
water ?

(A) Total dissolved solids
(B) Coliform count

(C) Dissolved oxygen
(D) Density

W-00

30.

31.

32.

33.

34.

POP3 T2 IMAP $-Hc1 37ehrse & foras

(A) TH 3O 3T & ufdeT A et
e |

(B) T &l Y HeA Ug & ford T 9
T BT TSt € |

(C) UF & THA 9o a1 W L &+
@ %ot TR 4 FEiud A
JeaT & |

(D) U i Tdl SoHA AT ST
TIE

T H o fRg Ugueh o % RO et
&9

(A) TR TE-HHAEES

(B) i

(C) PAN ()

(D) +3ZH RS

FARTFRIFISTE T AT DI T § 2
(A) U= ST G

(B) rEiierd aed

(C)  SRITer el siTelTgehetT

(D) 3H

frefafad 5 9 & 91 T WIhias
T & ¥ 2
(A) =T
(C) =t STt

(B) 3T =T
(D) waur

fr=iferd B @ HF @1 wEer ST H UgH
Hebeh & &9 T IUIIT el foham ST € 2
(A) Tt fafea g o=
(B) IR HI&H
(C) foafea sfferieH
(D) o

P.T.O.
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3S.

36.

37.

38.

S and P waves are associated with
(A) floods

(B) wind energy

©
(D)

earthquakes
tidal energy

Match Lists I and II and select the
correct answer from the codes given
below :

List-1
(i) Ozone hole

(i1) Greenhouse
effect

(ii1) Natural
hazards

List — 11
(a) Tsunami

(b) UV
radiations

(c) Methane

(iv) Sustainable (d) Eco-centrism

development
Codes :

@ ()
@A) d (©
B) (© (b)
© @ (
D) (@ (b)

(iii)
(a)
(a)
(a)
()

(iv)
(d)
(d)
(b)
(a)

Indian Institute of Advanced Study is
located at

(A)
(B)
©
(D)

Dharmshala
Shimla
Solan
Chandigarh

Indicate the number of Regional Offices
of National Council of Teacher
Education.

(A) 04
B) 05
(©) 06
(D) 08

W-00
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35.

36.

37.

38.

S Ud P i fohaeh WY e € 2
(A) @18

(B) g St

©) ™

(D) SR Il

Telt-1 3R Gell-11 ot GAfeTd HifTr 3 =
@ % T & W H T B

-1 -1
() e fog (a) TN
(i) BRAFANE  (b) UV Tafeor
(i) TTPFF (c) et ()
ST
(iv) 9RONT foeprd  (d) URTeTdqeha-
Hgag
3§Z‘:
() @) 3 @{v)
A b (© @ @
B) (© B @ @
© @ (@© @ (@®
D) @ ® © (
TRA Io0 379 G el [ & 2
(A) GE
(B) fmen
(C) W
(D) wene
UL 37eATI f¥1em uRug (NCTE) & &
HETATT o G IqY |
(A) 04
B) 05
(C) 06
(D) 08
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39. Which of the following rights was

considered the “Heart and Soul” of the

Indian Constitution by Dr. B.R.
Ambedkar ?

(A) Freedom of Speech

(B) Right to Equality

(C) Right to Freedom of Religion

(D) Right to Constitutional Remedies

40. Who among the following created the

41.

42.

office of the District Collector in India ?
(A) Lord Cornwallis
(B) Warren Hastings

(C) The Royal Commission
Decentralisation

Sir Charles Metcalfe

on
(D)

The Fundamental Duties of a citizen
include

1. Respect for the Constitution, the
National Flag and the National
Anthem

2. To develop the scientific temper.
3. Respect for the Government.
4. To protect Wildlife.

Choose the correct answer from the
codes given below :

Codes :

(A) 1,2and3
(B) 1,2and4
(C) 2,3and4
(D) 1,3,4and?2

The President of India takes oath

(A) to uphold the sovereignty and
integrity of India.

to bear true faith and allegiance to
the Constitution of India.

to uphold the Constitution and
Laws of the country.

to preserve, protect and defend
the Constitution and the law of
the country.

(B)
©)

D)

W-00
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T, 1.9, g J T ARl ° 9
8 IRdig dfauam 1 ggg 3T 3T
FET AT ?

(A) 3TNyl Tz

(B) HHMAT & ATYHER

(C) «iEe Lo 1 TR

(D) Hawnfer STERI 1 AHR

fr=fefaa o @ forem ara & f5en wes
1 UT G TR 2

(A) TS FHETAT

(B) anrA e

(C) T T HHITH 3 fed=etzsiem
(D) W A HTHE

T AN & GoT Hedl § Qrsferd ¢

1. Hayd, UL S 9 U @6
EStasic)

2. A ARetd o e

3. TR & ufd gEE

4, I SAl B @I

frefafed e o ¥ W&l SR g

E TR

(A)

(B)

©)

(D)

1,293
1,27 4
2,394
1,3,492

R T AT 19 el &

(A) YRA H WG 3R @USar H
AT TG H

(B) YRA & WayH H FAMSr R
fovama =t |

(C) 39 & FouH 3R HHF H T
TG H |

(D) 39 % Ty SR FHEA B GR,
TRIETT U UfieTd e i |

P.T.O.



43.

44.

45.

46.

If you get an opportunity to teach a
visually challenged student along with
normal students, what type of treatment
would you like to give him in the
class ?

(A) Not giving extra attention because
majority may suffer.

(B) Take care of him sympathetically

in the class- room.

You will think that blindness is
his destiny and hence you cannot
do anything.

©

(D) Arrange a seat in the front row

and try to teach at a pace
convenient to him.

Which of the following is not a
characteristic of a good achievement
test ?

(A) Reliability (B) Objectivity
(C) Ambiguity (D) Validity

Which of the following does not belong
to a projected aid ?

(A)
(B)
©)
(D)

Overhead projector
Blackboard
Epidiascope

Slide projector

For a teacher, which of the following
methods would be correct for writing on
the blackboard ?

(A) Writing fast and as clearly as

possible.

(B) Writing the matter first and then

asking students to read it.

(C) Asking a question to students and
then writing the answer as stated

by them.

(D) Writing the important points as

clearly as possible.

W-00
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Ife oAgeml G TRt % |-y

giedH fommell & 9gH @ aeR oo, o

AT TR H FY TSR 3TF Y FaeR

T TR 2

(A) IR &= &l A7 Tk ST
I B 33 IS T ¢ |

FT H WA § A @ @
HET |

Y | o SUYT SER 9T €
3 TQITT 31T F &l L Tl ¢ |

AT Kt Ui | HIS hl HIwT HEAT
3R 3Gk fot Graerses id ¥ Tg™
T BT HET |

(B)
©)

(D)

frefafEa & 9@ a1 39 Sucis q0efor i
forgroe & & 2

(A) fovemHEar  (B) e
(C) erareear (D) e

?ﬂ%{?@ﬁﬁ@wwﬁﬁwﬁqﬁm
?

(A) 3TRET WS

(B) =IHdlS

(C) BT G (TTSTEEhIT)

(D) ¥ATES UiSieeT

T T & [T, =i 98 W e &
forn Frfafaa 5 @ =9 9@ agfa @i g 2

(A) TS ¥ 99T SRl a% AR 8 e

ILER

Towey fawaae] & fo@ 3 qe
TR Tornfértt =t 3/ Tet % fordl e
oo foRnfaa ¥ we gRe 3K
T ST =1 foregpet A9 &1 foram

T ATl i STl deh T 8l Tl
9 o

(B)

©

D)



47.

48.

49.

50.

S1.

52.

53.

54.

A teacher can be successful if he/she
(A) helps students in becoming better

citizens

(B) imparts subject knowledge to
students

(C) prepares students to pass the
examination

(D) presents the subject matter in a
well organized manner

Dynamic approach to teaching means

(A) Teaching should be forceful and
effective

(B) Teachers should be energetic and
dynamic

(C) The topics of teaching should not
be static, but dynamic

(D) The students should be required to
learn through activities

The research that aims at immediate
application is

(A) Action Research

(B) Empirical Research

(C) Conceptual Research

(D) Fundamental Research

When two or more successive footnotes
refer to the same work which one of the
following expressions is used ?

(A) ibid (B) et.al

(C) op.cit: (D) loc.cit.

Nine year olds are taller than seven year
olds. This is an example of a reference
drawn from

(A) Vertical study

(B) Cross-sectional study

(C) Time series study

(D) Experimental study

Conferences are meant for

(A) Multiple target groups

(B) Group discussions

(C) Show-casing new Research
(D) All the above

Ex Post Facto research means

(A) The research is carried out after
the incident

(B) The research is carried out prior
to the incident

(C) The research is carried out along
with the happening of an incident.

(D) The research 1is carried out
keeping in mind the possibilities
of an incident.

Research ethics do not include

(A) Honesty (B) Subjectivity

(C) Integrity (D) Objectivity

W-00
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48.

49.

50.

51. =t ouE

52,

53.

54.

T 3TATIH A &l Tohell § A o8

(A) Ta=nfedt &t dga¥ AR s § H35
FATE |

(B) foenfadi i foma s A AT € |

(C) forentért =t wRiem & 3ol 84 & o
TR AT |

(D) fowgasg # goated @1 9 ue
FATE |

W%Dﬁ TATHSh 3UNTH <hl (‘ll(‘“l‘fl %‘

(A) ﬂ IR qAT THIERIe BT

|
(B) aﬁawmﬁ'ﬁwﬁmwwﬁsﬁaﬁm
|

(C) 3T % UK Wk =@l et
g ET |

(D) o=t | idfate= & Arey dra
i STUETT HAT TS |

STt 9y dTehieTeh STIUSRT T 18 el &

T FHEA ¢ :

(A) TR oY (B) AN oY

(C) WIIHF 3y (D)  Hiferss oy

ST B AT ST ST FeAlS (TRIoIora)

T & i T Gobel 3 € dl FETAEd § §

T SATYeaTeRT T SUFIT fehaT ST €

(A) 1ibid (B) etal

(C) op.cit: (D) loc.cit.

T G TNE S 9 ST o

gd € | 9 FetefEd 9 ol g9ed o

SRR &

(A) SRATHR T

(B) WiaMeaTeH (ShIg-TaRTeT) 3Tea

(A) T 1% I fRAT ST € |

(B) HAT % qd MY fopa ST ¥ |

(C) TT & "+ & HIS-AY Iy fohar
ST e |

(D) TS H AR H & T &
TT 9y fopar STrar € |

vty Afctera fepd onifiret =@t et & 2

(A) ZEFER (B) AT

(C) ==t (D) aEFEar

P.T.O.
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Read the following passage carefully and answer the questions 55 to 60 :

James Madison said, “A people who mean to be their own governors must arm themselves
with power that knowledge gives.” In India, the Official Secrets Act, 1923 was a convenient
smokescreen to deny members of the public access to information. Public functioning has
traditionally been shrouded in secrecy. But in a democracy in which people govern themselves, it
is necessary to have more openness. In the maturing of our democracy, right to information is a
major step forward; it enables citizens to participate fully in the decision-making process that
affects their lives so profoundly. It is in this context that the address of the Prime Minister in the
Lok Sabha is significant. He said, “I would only like to see that everyone, particularly our civil
servants, should see the Bill in a positive spirit; not as a draconian law for paralyzing
Government but as an instrument for improving Government-Citizen interface resulting in a
friendly, caring and effective Government functioning for the good of our People.” He further
said, “This is an innovative Bill, where there will be scope to review its functioning as we gain
experience. Therefore, this is a piece of legislation, whose working will be kept under constant
reviews.”

The Commission, in its Report, has dealt with the application of the Right to Information in
Executive, Legislature and Judiciary. The judiciary could be a pioneer in implementing the Act
in letter and spirit because much of the work that the Judiciary does is open to public scrutiny,
Government of India has sanctioned an e-governance project in the Judiciary for about I 700
crores which would bring about systematic classification, standardization and categorization of
records. This would help the judiciary to fulfil its mandate under the Act. Similar capacity
building would be required in all other public authorities. The transformation from non-
tsransparency to transparency and public accountability is the responsibility of all three organs of

tate.
55. A person gets power
(A) by acquiring knowledge (B) from the Official Secrets Act, 1923
(C) through openings (D) by denying public information

56. Right to Information is a major step forward to
(A) enable citizens to participate fully in the decision making process
(B) to make the people aware of the Act
(C) to gain knowledge of administration
(D) to make the people Government friendly

57. The Prime Minister considered the Bill
(A) to provide power to the civil servants
(B) as an instrument for improving Government-citizen interface resulting in a friendly,
caring and effective Government
(C) adraconian law against the officials
(D) to check the harassment of the people

58. The Commission made the Bill effective by
(A) extending power to the executive authorities
(B) combining the executive and legislative power
(C) recognizing Judiciary a pioneer in implementing the act in letter and spirit
(D) educating the people before its implementation

59. The Prime Minister considered the Bill innovative and hoped that
(A) It could be reviewed based on the experience gained on its functioning.
(B) The civil servants would see the Bill in a positive spirit.
(C) It would not be considered as a draconian law for paralyzing Government
(D) All the above

60. The transparency and public accountability is the responsibility of three organs of the State.
These three organs are
(A) Lok Sabha, Rajya Sabha and Judiciary
(B) Lok Sabha, Rajya Sabha and Executive
(C) Judiciary, Legislature and the Commission
(D) Legislature, Executive and Judiciary
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fefefEd uies 1 e Jeie Ygehs U9 o, 55 & 60 T & 3T 1T

S AfeHT F FRT S AN W Hl ST FEAE GHEd € 3% 9 9 U IR § 370 o gEfsed s
TN AT | 9RA | IR MO AT, 1923 S GER B GIAAT . FESI-b T
GOUTSe YHTaReT a7 | URERE €9 §, HESeh HEH0T i MO TN ST @l | 9=, e
STET T @ U B VT A ¥, ST Gelu TE A & | G 1 SR FHR oA b
Wﬁﬁuﬁmﬁaﬁaﬁwm@m%lwﬁdﬁéﬁﬁwm S 37 SiET i
TR &Y | yfad el 8, § TS AT & | AAHETT H TYE T A0 3 Ty o
T € | SR FE, ﬁﬁqﬁqaﬁ@m T Ui =aford, faeie ®0 | AR @i 9o, 99 &

3

Wmﬁé@q%ﬁwﬁwcﬁﬁmaﬁmﬁ@w w7 F | afew, o fdas H
HR-ATNE SFRTEAD T T % UH ST & &9 § <@ S AN I U e, S@Hret
LA A T AT B TAE FA Al TEHX 6 & H GO 8 [ 3B 3R FET
fagee & SaH 3% ST & 39T & 18 TRIEEH B 7] T%?ﬁlaqﬁ:,a%%rﬁamwﬁm
379 €, ST SERIIT 1 T A o =i W@l I ST, T R J, St
%nm%ramvwaﬁT q aﬁwaﬁa—@gﬁﬁ%wﬁwaﬁ%laﬁmaﬁ
Ww%w FH T AT 3TN & Hehell & FAiTh SIRIHIST i, i
AT A €, B % feTT gett @ & | .
TR THR 3 e % 70 T 700 FAE & S-AGT doF1 B T & ¥ B T st @
AN 0T, HTHHIEHIUT TS AUTSHIOT &l W | T8 AT bl AT & 3T=d 3T A9
Ea) m‘%ﬁmaﬁw | Tl T B T T T Tl itk SRRl § e g oo ot
H YREIITET Ue resieh STaraegdl § Sl T & Gt di=1 31T ol STREIae € |

55. U AR ik W T &
(A) I AT ek (B) IMHHIF MO Afutam, 1923 9
(C) IR Ao & | (D) I ol 97 A 9
56. o BT ATIBHR FT B BT T 37 TH & 2
(A) TR T U & i UishAT | quidar YRTERT A A7 I |
(B) A BT ATITTAT % U STk I & [T
(C) YR T I U A & felT
(D) A T WHR o Ui Hzed s & g
57. TEST 3 fa€aes S o qHe 2
(A) T Yahi i VITRT USH HAT |
(B) THR-ATINGR o ST=RIheAsh TrTT ol YR T STH0T ST T Tostad, Srer shet arett oem
mwm| ‘
(@ FHANAT o fT6s B FT H ETH |
(D) AT T TRIME FHA T THT |
58. 3TN 7 Toegeh F HT THATELNA 1T ?
(A) HEHR WL i IfeRT e ek
(B) ISR a9 fam it st i ek
(C) —IrifeteRt i IET S ot WTaT o 3T TR fhanf-ad e | 3l AT
(D) et & TFaraas | 9d @ i e ek
59. WHFES = AU Wt TEHTSRT T AT A0 5 {6
(A) 3TH HEHINAT & SIS & ER W IHHT TASATDA 5T ST B |
(B) i Yok 99 Sl hRIcHe TeHT § @1 |
(C) 3T TIHR T TR (TIEH) HA M HT BT 7 FHA ST |
(D) 3w @l |
60. TREITET 3R SaEegdl 9 & diF 31T 1 SR & | T & J diF 1 &
(A) TIHHT, T ST =ATEITART (B) AR, TSI 37T HIATTAHT
(C) =TI, ST 3R AN (D) ST, BT I ~ATIaeTehT
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